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BT (X) £ HEH| B X g BT (X) £ HEH| B X g BT (X) £ HEH| B X it BT (X) £ HEH| B X g BT (X) £ HEH| B X N

ZHET 47 64 63 1277k SET 154]  224] 254 478| A1 X 290 355 384 739| =T 63 104 114 218|&E 85 125 142 267
rh T 25 34 39 73|RE SHET 225 334| 295 629| A2 X 293 376 390 76632 BHET 49 71 75 146| & BHET 49 72 87 159
$HRET 46 52 55 107| L% EET 98 139 177 316| 3K 49 47 57 104|458 TUET BT 32 52 57 109| A F{RET 36 68 72 140
TEET 80 107 102 209| %2k BT 24 50 38 88 |4t % A HET 557 836 871 1,707|48 IE R HT 21 41 44 85 |{Hl s = BT 14 26 32 58
ik i 85 104 126 230| & HET 28 38 42 80| AHT 74 120 109 22948 TUET 87 115 119 234| & S HET 18 26 23 49
REHT 48 56 59 15|t & BHT 55 86 79 165| Pr BT 84 138 129 267|EFrET 193 249 261 510| & HET 38 56 69 125
£ RIET 268 378 372 750| 12 BB ET 222 318 294 612|FH—TE 75 98 109 207|487 59 64 66 130 ZF HTIRET 54 79 85 164
J\BTHET 13 18 20 38|y ZHT 93 145 157 302|EW_-TH 97 114 143 257 ch ELET 112 135 122 257|%5 HET 34 73 66 139
m A ET 19 30 45 75(7K B BT 59 86 98 184|#IK=T B 102 110 141 251|{ELET 456 586 580 1,166 |4 SET 63 94 107 201
A RIET 25 36 45 81|12 HET 14 27 26 53|ZEMmET B 150 183 235 418| A THET 60 79 92 171 | R B SHET 22 35 54 89
R—&HT 33 37 36 73| B INEHR 366 460 417 877\ AT H 79 111 113 224\ fEALX 152 187 201 388 | @ ST 40 58 Al 129
R HT 79 81 92 173|188 E—TH 194 263 257 520| K FE X 35 51 43 94| HAFMX 123 169 158 327 | AHET 34 56 53 109
H=HAT 25 26 37 63| B AR 64 94 102 196|FA—TH 161 229 266 495|FEFE MX 156 202 227 429(ILEE—THE 59 74 92 166
BIA\VER 453 554 593  1,147|BJII#IX 5t 1596 2,264 2236 4500|HH=TH 190 262 279 541 |5 METRE 78 102 102 204(ILEE=TH 89 136 133 269
[iPANE S 8 98 121 138 259| FtaEFET 88 131 124 255|3 R =TH 159 233 233 466| = S2fT 135 174 183 357(ILEAR=TE 88 116 131 247
H/N\YER 238 317 323 640| 7% Bt EFET 65 102 93 195| %R T B 134| 224 220 44| FEE—TH 57 81 73 154|lLEEWTHE 121 122 145 267
AWES 1) 223 228 253 481|/N £ BT 22 36 35 M|{HhE—THB 147 183 197 380|FEAZ-THE 117 145 180 325(ILEEBERTHE 85 139 145 284
$rEET 466 668 723 1,391 EA4ETET 60 82 88 170/ =TH 203 300 318 618|EEHT 94 146 120 266|lULEAARTHE 109 173 161 334
FRET 17 21 18 39| A EFET 66 94 82 176|4t L ET 91 108 124 232|hEIX 5t 2,044 2,702 2774 5476|LEHMX Et 1,038| 1528| 1,668 3,196
YR ET 13 13 17 30|fBEFMX 3§ 301 445 422 867|dtZEE—TH 121 174 209 383|FHAET 168 219 213 432\ FREE—TH 140 185 192 377
ERETX 17 20 25 45|/ LT 92 138 151 289|dtREAE-THE 153 221 265 486| £ — Q&Y 53 82 90 12| FRERZ-TH 97 135 109 244
BETHET 24 28 33 61|t HET 143 194 222 416| B 5t 3244 4473 4835 9,308|5 FEHT 93 127 128 255| FREFR=TH 150 191 199 390
TBET 98 107 108 215| % Re AT 225 271 303 574|{ESLET 208 281 318 599 | A2 HET 194  304| 318 622| FRERMTHE 159 217 220 437
FEAHET 587 820 798  1,618|dL SHT 65 93 114 207| AN 92 127 140 267 |5 ALET 31 59 59 18| FRERAETH 128 168 176 344
EHEA1X 102 101 127 228 |55 FE S ET 16 24 21 45| R4 58 71 96 167|Z LET 83 115 134 209| FREFEREATE 155 229 243 472
JEHEAR2X 196 257 273 530K SLHT 27 44 40 84;E4E)IIX 46 78 77 155 | &I ET 123 166 174 340 FREFB—TH 133 177 171 348
EHEAIX 63 60 82 142| LMK 70 71 91 162|48)1 18T 123 174 187 361 | KET 53 91 93 184| FREB_TH 136 185 182 367
JEHEARAX 187 289 256 545\ MFH—TH 134| 206 205 411 |+ FHrET 18 33 44 77| E b ET 16 24 32 56| FREFBE=TH 132 180 195 375
HEASX 330 441 464 905| LRI 5t 772| 1,041| 1,147 2.188|HIFEHKMX 3 545 764| 862| 1,626|#FIF—TH 91 126 126 252| FREFBMT B 101 125 143 268
JLHEAR6X 189 244 228 472| E{RET 125 150 207 357|= K ET 436 635 584| 1,219|A#FIEF=TH 55 80 74 154| FREBRTH 132 158 161 319
AXBETH 147 174 169 343| LR 9 13 15 28| &= kT HT 398 549 556| 1,105|#FIFZ=TH 68 94 106 200| FHREFAATE 138 179 194 373
HE—TH 83 104 103 207 | 10 15 17 32| {2 LAY 43 70 78 148|# 3 (ZHETH 98 133 128 261|FREBLTE 172 231 256 487
E=_"TH 102 119 145 264|BHEK 9 12 13 25| B K HET 64 93 109 202|#IFRETH 65 94 93 187| FHRE®E/N\TH 116 140 155 295
EF==TH 98 116 134 2503 {LET 40 54 70 124| R {RET 37 58 54 112|#FFEATH 67 76 81 157|FREHm—TH 106 152 156 308
mm—TH 95 105 124 229 ERET 21 31 33 64|/\H ch T 49 69 77 146|3&E—T8H 96 147 140 287\ FRE@_-TH 146 222 217 439
#H=TH 118 152 188 340/NI1ET 41 56 69 125|/\ EHET 119 184 194 378|EEK=—TH 53 73 73 146| FHREFMX 5t | 2141| 2874| 2,969 5,843
HHZ—THE 71 84 95 179| £ /NIIET 36 41 63 104| — 1R ET 58 67 80 147| MR 5t 1407 2010 2062| 4,072|+4HT 107 137 155 292
EH-TH 113 162 144 306| 2 H#AHET 31 38 49 87| & ERET 154|  220| 238 458 |48 STHT 371 519 497  1,016|ZFAHET 98 109 129 238
#*E—TH 129 145 163 308| = R ETHT 101 165 166 33| EEARTR 362 527 489 1,016 | FEHET 105 157 163 320| T HAHT 98 134 122 256
Z*E=-TH 87 138 137 275|BAEER 79 108 113 221|hEXHR 193 262 251 513|148 FHET 321 430 400 830|FEA—TH 108 126 132 258
RIE—TH 150 177 204 381| = R AT 58 94 88 182|fFAE K 114 155 152 307|E dET 346 523 494 1,017|FHW=TH 73 84 84 168
KLEZTH 74 77 90 167| SIRMX 5 560 777 903| 1,680 —1F#HX 202 283 264 547|4piX 5t 1,143 1,629| 1554 3,183|FA=TH 65 90 93 183
#H—TH 68 70 86 156 = HL.ET 134 221 222 443|HIVER—TH 75 96 108 204 XIREFET 66 98 87 185
B%=TH 61 72 85 157 K SKET 83| 128 142 270|HSVESE=TH  108| 138 153 291 RSIREFET 98| 133 112 245
#H=TH 17 30 29 59| #AFX 113 144 187 331|HIVEHR=TH 75 93 106 199 [EEPN51:) 76 95 95 190
BX—TH 122 171 191 362|FHE—TH 153 134 186 320|HSVHESEM T B 118 171 148 319 BERHE—TH 63 84 83 167
EX=TH 7 11 5 16|FHR_TH 60 76 78 154 /\B#H KX 85 121 131 252 EER 64 59 80 139
BEHXAETH 101 122 138 260| KK FX 81 121 112 233| MBI Bt 2,690 3,791 3772 7563 NIBEMX 5t 916| 1,149 1,172 2,321
BHRATH 52 70 73 143|#FHALX 120 179 176 355

BRXtTH 109 133 154 287|F FhF X 51 68 77 145 MafESfbiE 5t 25458| 34571| 36,085| 70,656
BH*/N\TH 122 168 176 344|F HEE MR 43 62 52 114

BRATH 1 1 4 5| FEX 193 267 282 549

BX+TH 9 11 8 19| —A#IX 5t 1,031| 1400( 1514 2914

MEX 5t 6,030 7,724| 8195 15919
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BT (X) £ N BT (X) £ BT (R) £ 5 x N BT (X) £ HEH| B X BT (X) £ HEH| B &
=)IIFRTE 81|/\tBET 377|3R R ET 164 178 342[A RETH E 44 66 83 149 | iz #BET 45 70 72
EJNE:1E 458| == HT 156 | FE 3R 7 BT 274 302 576 AT ETIE 39 43 49 92| AR EFET 23 37 40
EJNEric] 109 &9 LLIET 658|& A FAT 342 353 695 ;A N ET 1= A 106 143 175 318|773— /LBt 29 49 43
EJNEST: e 324|ch SHT 175|B3%—T8H 146 146 202[AIRETEY DB 49 70 76 1463 & ET 60 85 105
EJNEA:rii] 96| 3 3 ILLIET 147 & A FHET 61 59 120| ;A NET.S LA 53 73 63 136| % R AT 39 46 44
EJNE4: e 98— /B &t 1,513 | EAFET 70 67 137|;ANET O EE 15 24 25 49| T EFHET 44 72 79
EJNEd:ri] 115|883k 5 BT 220| 7 2HT 85 86 171 [RAIR BT P E i 3 3 6 9| L EFHT 102 163 177
EJNE e 88| #B Sk HT 250w EET 221 237 458 |;A] RET B jth 5 5 6 11| =3RET 32 46 51
EJNE R pd: i i 144|883 RET— T H 89(BAXIMT B 257 257 514[;A NET AR 20 27 43 0| FHE 25 24 35
EJNE R e 69|#BRABT —TH 84(BAX=TH 141 148 289[AT R ETR £ 8 8 10 18| EHE 19 31 28
EJNS i 128K ABT=TH 130 (%05 35 BT 166 160 326 ;AT NETHR B 18 20 18 38| Bl =T 64 84 98
E)ISHTER 402|883k ABTMT B 5205 & 8T 229 244 473 NET &M 5 4 3 7| A= H BT 19 25 27
EJNEGE: i 99|#BskEA B ET 405|ZAEFET 155 164 319 NET T4 4 3 2 5|42 ZRHT 48 49 46
£ MERTR 209 |#B 3k &R AT 270|EAE7 ERTET 95 102 197 NETRE 21 23 23 46| #F-EHKET 27 33 41
EJNP:ri 214|#53k L 3RET 84| &8 AE BT 118 11 229|5QAHbis, 5t 390 512 582|  1,094|i%:EHET 17 20 24
EJNRF e 271|#83k T 3RET 75| B S FET 434 419 853| THEF 62 88 91 179| ZC BT 15 13 13
EJNEIIN:i] 101 (#8KHEE 100 Fr&EB A EHT 42 37 79| L5 96 100 137 237| = #aHT 5 1 4
EJNEINIES 182 ¥R SR AN=FHT 458|MitiX 5t 3,000( 3,070 6,070|%k%E DB 53 80 68 148 | $U3AET 3 3 2
=)IFRETE 558 |E8 S H BT 222| H T 269 294 563|1& B 18 34 36 70| FaT BT 10 10 9
=)1IFRETR 553 |#8 3k K F ET 79| OHET 184 218 402| KPR 10 0 10 10| E+AHET 0 0 0
S 5t 4,243 (#5K K E BT 536| KT ET 89 91 180K 37 26 40 66 |1 R ET 2 2 0
REAT 766 |#83k K = FGET 250| A% S BT 26 31 57| R 36 57 50 107 | £ Hh BT 0 0 0
FHRAT 687|853k KFET—TH 23|1THT 85 87 172| FKiB 26 45 41 86| #8;EHET 22 29 48
FBEET 113|EBR/KFET=TH 191|dh /4R ET 65 77 142| ERiB 27 31 34 65| 3;H/KHET 43 53 63
KRIEAT 147|88RKFETET B 78| R EFHT 84 75 159| A BH 12 15 16 31| FEAHET 63 87 103
R SLET 459| %83k B HHET 91|t RAT 70 77 147|th e 52 49 56 105| E A HT 44 58 68
e S BT 776| SR 5t 4,155| e K BT 30 35 65|SHOMIK 5 429 525 579|  1,104|FE{k BHET 33 57 53
St AT 228| A5HET 744| B R H th 398 419 817 =VREHE 53 84 106
Bay)ifi g 659|/IMIDET 503 |t R ETHET 214 232 446 Sl LLIET 46 65 74
HEHET 894|BAX-TH 408| %53k & S HT 279 291 570 {1 B 4 B BT 5 5 6
e S #THET 37(/IMINETET 244 |iREEHET 224 214 438 TATHEE 19 27 17
EEFR 425| B fE1F BT 750| /BT ET 20 14 34 Stz 956| 1,328 1,476
BEEFR 388|BABHRTIL/E 1163 O AT 83 93 176 =5 57 63 76
ESFH 399 | FHBHTE/ K 67| 4EARFTHET 209 206 415 e 7 7 4
IREMX 5 5,978 | BA S BT 4t 150| 8EXBHIX 5 2329| 2454| 4783 Fval 80 94 114
EE1RE 148|BA S ETEG /#F 106 ZR 32 27 46
EET2X 137|%&/ RETET 76| EBK i 11,107| 11,563 22,670 j gl 24 21 23
EE3X 12| FHEEHET 268 75 8 6 6
RETAX 123| L #&% B HET 147 Bra 1 2 1
EE5 X 345| T # SHET 233 HFRRBRX 25 30 39
RET6X 366|FZESHHET 473 BOhig 3 234 250 309
EE7TR 11| FFSEE 626 Blg 276| 359 372
FERT8 X 217| R SHET 640 25 86 105 103
EETOK 248t 7% SHET 344 THER 0 0 0
EBT10K 629| TG 7% SET 70 BEthis 362 464 475
EET1 1R 56|t #x S HT 184
EAT12K 462| X F 6,149
EX 5t 2,954 = 40,5551( 55,111| 57,890 113,001
=)ttt 5t 13,175




